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QUESTION 1

Click the Exhibit button.

Client 1 does:

beqgin wark;

setisolation to repeatable read,

goloct * from tab 1 whore coll = 20 for wpdate,

Cllent 2 then does;

bieqin wiork;
Update tab1 set coll = 25 where coll = 20;

In the exhibit, which statement is true regarding the update statement of Client 2 if both of the clients are connected to
the same logged database?

A. Client 2 will update col2 of the rows having col1=20.

B. Client 2 will return successfully without updating any rows.

C. Client 2 will keep waiting for client 1 to finish its transaction.

D. Client 2 will get an error that the "record is locked" or the "table is locked".

Correct Answer: D

QUESTION 2

You have a database server environment where all databases use buffered logging. In which two conditions are the
logical-log buffers in shared memory flushed to the logical log on disk? (Choose two.)

A. When the buffer is full.

B. When a checkpoint occurs.

C. When a user issues a begin work.

D. When a user commits the transaction.
E. When a user rolls back the transaction.

Correct Answer: AB

QUESTION 3

A progammer wants to unload a table to a file inside a stored procedure. What functionality listed below will help the
programmer accomplish the task?
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A. dbload

B. dbexport

C. external table

D. SQL unload statement

Correct Answer: C

QUESTION 4

Which document provides details on preparing an operating system to run Informix?
A. Machine Notes

B. System User\\'s Guide

C. Operating System Guide

D. Informix Migration Guide

Correct Answer: A

QUESTION 5

Which Informix utility listed below will allow an administrator to run ad hoc SQL against the instance?
A. onsql

B. onadmin

C. dbaccess

D. dbschema

Correct Answer: C

QUESTION 6

Which two statements will delete all rows from table_name? (Choose two.)
A. DROP FROM table_name ;

B. DELETE FROM table_name ;

C. DELETE * FROM table_name ;

D. TRUNCATE TABLE table_name ;

E. DELETE ALL FROM table_name ;
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Correct Answer: BD

QUESTION 7

Which command would you execute to restore an instance without using or restoring the logical logs?
A. onbar -w

B. onbar -e

C. onbar -r -p

D. onbar -r -nolog

Correct Answer: C

QUESTION 8

What are two system level databases? (Choose two.)
A. sysperf

B. sysadmin

C. sysmaster

D. sysmonitor

E. sysscheduler

Correct Answer: BC

QUESTION 9

Click the Exhibit button.

Which of the following will display the values in the lead_time column from highest to lowest?
A. SELECT * FROM manufact ORDER BY lead_time

B. SELECT * FROM manufact ORDER BY lead_time ASC

C. SELECT * FROM manufact ORDER BY lead_time HIGH

D. SELECT * FROM manufact ORDER BY lead_time DESC

Correct Answer: D

QUESTION 10
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Which statement can be used to roll back SQL statements within a transaction?
A. END WORK

B. COMMIT WORK

C. ROLLBACK WORK

D. ROLLBACK WORK TO SAVEPOINT

Correct Answer: D

QUESTION 11

Which utility would you use to print out the physical layout of the instance?
A. onstat

B. onmode

C. onspaces

D. dbschema

Correct Answer: D

QUESTION 12

Which one of the following is a characteristic of a Decision Support System (DSS) or Data Warehousing environment?
A. frequent writes

B. frequent updates

C. uses query parallelization

D. typically uses memory resident tables

Correct Answer: C

QUESTION 13

Which of the following privileges can NOT be granted to a role?
A. Type-Level

B. Table-Level

C. Routine-Level

D. Database-Level
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Correct Answer: D

QUESTION 14

Which two database objects can be created using fragmentation? (Choose two.)
A. view

B. table

C. index

D. trigger

E. synonym

Correct Answer: BC

QUESTION 15

Why would you want to create a table with a lock mode row as opposed to a lock mode page?
A. to reduce disk I/O

B. to keep more information in memory for each locked row

C. to increase concurrency among multiple users on the same table

D. to reduce the number of locks when accessing rows out of the table

Correct Answer: C
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